
KÖKLÜ SAYILAR                                       ĐNTERAKTĐF MATEMATĐK 
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1. ?48 =  

      A)3 3        B) 4 3         C) 5 3     

      D) 3 5       E) 8 3  

  

2. 45 5 ?− =     

    

      A) 2 5      B) 10      C) 5      

D) 2 10       E) 3 5  

3. 44  - 11 = ? 

        A) 11              B) 2 11       C) - 11   

        D) -2 11          E) 3 11  

 

4. Aşağıdakilerden hangisi 3 ’e eşit değildir? 
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5. 
3 41 1 16 ?+ − + =     

  

        A) 4 B) 3 C) 2 D) 1 E) 0 

 

6. Aşağıdakilerden hangisi en büyüktür? 

 

        A) 2 5  B) 3 3  C) 4 2  D) 33  E) 5 

 

7. − − − − − − − =1 8 125 643 3 3 3 ?  
 

 A) 9 B) 10 C) 11 D) 12 E) 13 

 

8. 98 5 8 72 4 50+ − + = ?  
 

 A) 31   B) 31 2   C) 37 2   D) 37   E) 25 2  

 

9. ?5.224.6 =⋅     

      

A) 8 B) 9 C) 10 D) 12 E) 15 

 

10. ?2501654 333
=−+    

                

A) 3 2−   B) 3 22−   C) 3 2  

D) 3 22   E) 0 

 

11. 72 18 2 50 3 8 3 128 ?− + + − =   

       

A) 4 2   B) 13 2−  C) 7 2  

D) 5 2−  E) 10 2  
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A) 62  B) 6  C) 
2

6
 D) 1 E) 

6

1
 

13. 20 - ?
4

80

3

45
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      A) 5    B) 2 5    C ) 3 5    D) 4 5  E) 0 

 

 

14. 
98 5 8 1

14 10 2
− +   

 

A) 0         B) 2        C) 2 2  

D) 2−   E) 2 2−  

 

 

15. 2 8
5 3 2 2

a b c abc÷ = ? 
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16. 0 01 121 0 2 0 04. . . . ?− + ⋅ =  
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17. ?
2

182243
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−
    

      

A) )62(6 +  B) )26(6 −  C) 6  

D) )32(12 −  E) )31(6 −  

 

18. ?
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19. 101.126.11.0 ⋅=++ a  ise, ?=a  

      

A) 16 B) 
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